arcsec

First 2 seconds (h'—-o 023 E_— 0.040
First 20 seconds " (o,_=0.000 T -0.000

Second 20 seconds ?0 =0.00 0 .=0.000)
Third 20 seconds (o, -5 000 g, —O 000)

Hour Angle Error (o a—O 026 m&an =-O 014)
Declination Error (o, =0.009 mean .—-0.028)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 100 120
expid=176496 (exptime=10.00) t [sec]



arcsec

First 2 seconds (h' -0,003 E_ =0, 0153
First 20 seconds (o, =0.000 o 00)

Second 20 seconds ?0 =0.00 0 .=0.000)
Third 20 seconds (o, -5 000 g, —O 000)

Hour Angle Error (o a—O 146 m&&n —0 002)
Declination Error (o, =0.006 mean o.=0-014)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

/l L : X I 1 1 i i 1 1 1 | 1 1 1 | 1 1 1
20 40 60 80 100 120

expid=176498 (exptime=10.00) t [sec]



arcsec

First 2 seconds (h'—-o 002 E_ =0, 1966)
First 20 seconds (o, =l 56)

Second 20 seconds ?0 —0 00 0 .=0.000)
Third 20 seconds (o, -5 000 g —O 000)

Hour Angle Error (o a—O 041 m&&n -0 002)
Declination Error (0, =0.056 mean o.=0-131)
Guider X (o,,= nan)

Guider Y (o, = nan)

80 100 120
expid=176499 (exptime=20.00) t [sec]



arcsec

First 2 seconds (h' 0. 036 H_— 0, 0013
First 20 seconds (o, =0.0( 00)

Second 20 seconds ?0 —0 00 0 .=0.000)
Third 20 seconds (o, -5 000 g —O 000)
Hour Angle Error (o a—O 030 m&&n -0 003)
Declination Error (o, =0.004 mean .=-0.006)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 100 120
expid=176501 (exptime=15.00) t [sec]



arcsec

First 2 seconds (h' 00113_ 0006&
First 20 seconds (o, =0.000 o, =0.000)

Second 20 seconds ?0 =0.00 0 .=0.000)
Third 20 seconds (o, -5 000 g, —O 000)
Hour Angle Error (o a—O 053 m&&n =-O 001)
Declination Error (0, =0.021 mean =-0.025)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 100 120
expid=176505 (exptime=15.00) t [sec]



arcsec

First 2 seconds (h'—-o 104 E_— 0.159
First 20 seconds (o, =0.000 T -0.000

Second 20 seconds ?0 =0.00 0 .=0.000)
Third 20 seconds (o, -5 000 g, —O 000)
Hour Angle Error (o a—O 135 m&&n -0 003)
Declination Error (o, =0.027 mean =-0.130)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 00 120
expid=176506 (exptime=5.00) t[sec]



arcsec

First 2 seconds (F 00193_ 001]8
First 20 seconds (o, =0.000 o, =0.000)

Second 20 seconds ?0 =0.00 0 ,=0-000)

Third 20 seconds (o, -5 000 g, —O 000)
Hour Angle Error (o a—O 145 m&&n -0 010)
Declination Error (o, =0.006 mean o.=0-013)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

20 40 60 80 100 120
expid=176510 (exptime=3.00) t[sec]



arcsec

First 2 seconds (F 0. 1053_ 0. 23@
First 20 seconds (o, =0.2, a -0 1)

Second 20 seconds ?0 —0 00 0 .=0.000)
Third 20 seconds (o, -0 000 g —O 000)
Hour Angle Error (o a—O 218 m&an -0 007)
Declination Error (o, =0.081 mean o =0-117)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 00
expid=176511 (exptime=20.00) t [sec]



arcsec

First 2 seconds (h' 0. 086 H_— 0, 0173
First 20 seconds (o, =0.0 00)

Second 20 seconds ?0 —0 00 0 ,=0-000)

Third 20 seconds (o, -0 000 g, —O 000)
Hour Angle Error (o a—O 175 m&&n a=-0 015)
Declination Error (0, =0.011 mean =-0.009)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

40 60 80 100 120
expid=176514 (exptime=15.00) t [sec]



arcsec

First 2 seconds (h' 0.082 H_— 0, 015;
First 20 seconds (o, =0.162 07)

Second 20 seconds ?0 =0 00 0 ,=0-000)

Third 20 seconds (o, -0 000 g, —O 000)
Hour Angle Error (o a—O 162 m&&n —0 015)
Declination Error (o, =0.010 mean =-0.014)
Guider X (o,,=0. 040)

Guider Y (o, 0. 041)
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80 100 120
expid=176516 (exptime=30.00) t [sec]
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arcsec

First 2 seconds (h' oozsﬂ_ 0006)
First 20 seconds (c =0.04 90 -0 011)

Second 20 seconds ?0 =0.03. 0 .=0.012)
Third 20 seconds (o, -5 024 0, —O 024)
Hour Angle Error (o a—O 037 m&&n -0 001)
Declination Error (o, =0.020 mean .=-0.003)
Guider X (o,,=0. 040)

Guider Y (o, 0. 044)

80 00 120
expid=176518 (exptime=60.00) t [sec]



arcsec

First 2 seconds (h'—-o 049 E_— 0.015,
First 20 seconds (o, =0.000 T -0.000

Second 20 seconds ?0 =0.00 0 .=0.000)
Third 20 seconds (o, -5 000 g, —O 000)

Hour Angle Error (o a—O 045 m&&n =-O 005)
Declination Error (o, =0.018 mean o.=0-016)
Guider X (o,,=0. OOO)
Guider Y (o, 0. 000)

80 100 120
expid=176519 (exptime=10.00) t [sec]



arcsec

First 2 seconds (h' -0, 043 E_ =0, 020&
First 20 seconds (o, =0.043 ¢ 19)

Second 20 seconds ?0 =0.04 0 =0.011)

Third 20 seconds (o, —5 0320, —O 028)
Hour Angle Error (o a—O 047 mean =-0.000)
Declination Error (o, =0.066 mean =-0.001)
Guider X (o,,=0. 053)

Guider Y (o, 0. 051)

00 120
expld 176520 (exptime=175.00) t [sec]



arcsec

First 2 seconds (h'—-o 010 E_ =0, 032&
First 20 seconds (o, =0.019 o 29)

Second 20 seconds ?0 =0.02. 0 .=0.032)
Third 20 seconds (o, —5 027 g, —O 060)
Hour Angle Error (o a—O 032 m&&n =-O 001)
Declination Error (o, =0.067 mean o.=0-005)
Guider X (o,,=0. 054)

Guider Y (o, 0. 051)

00 120
expld 176521 (exptime=150.00) t [sec]



arcsec

First 2 seconds (h' 0.004 H_— 0, ossg
First 20 seconds (o, =0.036 18)

Second 20 seconds ?0 =0. 04 0 . =0-022)

Third 20 seconds (o, —5 040 g —O 017)
Hour Angle Error (o a—O 042 m&&n —0 001)
Declination Error (0, =0.082 mean =-0.004)
Guider X (o,,=0. 058)

Guider Y (o, 0. 062)

00 120
expld 176522 (exptime=200.00) t [sec]



arcsec

First 2 seconds (h' 0.015 H_— 0, oes&
First 20 seconds " (o,_=0.032 06)

Second 20 seconds ?0 =0.| 03 0 ,=0-060)

Third 20 seconds (o, —5 0310, —O 037)
Hour Angle Error (o a—O 041 mean =-0.000)
Declination Error (o, =0.101 mean o.=0-002)
Guider X (o,,=0. 061)

Guider Y (o, 0. 065)

00 120
expld 176523 (exptime=200.00) t [sec]



arcsec

First 2 seconds (h' -0,006 E_ =0, 0543
First 20 seconds (o, =0.026 o 34)

Second 20 seconds ?0 =0.02 0 ,=0.026)

Third 20 seconds (o, —5 0310, —O 094)
Hour Angle Error (o a—O 035 mean =-0.001)
Declination Error (0, =0.084 mean =-0.002)
Guider X (o,,=0. 057)

Guider Y (o, 0. 058)

00 120
expld 176524 (exptime=200.00) t [sec]



arcsec

First 2 seconds (h' 0.026 H_— 0, 237%
First 20 seconds (o, =0.038 02)

Second 20 seconds ?0 =0. 04 0 . =0-019)

Third 20 seconds (o, —5 039 g, —O 032)
Hour Angle Error (o a—O 042 m&&n —0 003)
Declination Error (o, =0.083 mean =-0.002)
Guider X (o,,=0. 046)

Guider Y (o, 0. 038)

80 00
expid=176525 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h'— 0.020 E_— 0.012
First 20 seconds (o,_=0.037 70 —0.008

Second 20 seconds ?0 =0.03. 0 . =0-020)

Third 20 seconds (o, —5 0350, —O 046)
Hour Angle Error (o a—O 036 m&an —0 000)
Declination Error (o, =0.045 mean =-0.009)
Guider X (o,,=0. 039)

Guider Y (o, 0. 041)

v g ¥
| 1 1 1 | 1 1 1

80 100 120
expid=176526 (exptime=90.00) t [sec]



arcsec

Uha: N Udec: 3
Na=0.029 dec=0.060)
(6, =0.110g,_=0.011)
nd 20 seconds ?0“20.12 0,,.=0.023)
0seconds (o, =0.122 ¢,  =0.011)
ngle Error (o, a=0.117 mean, =0.004)

ion Error (o, =0.038 mean  =0.011)

onds
econds (|
onds

i 1 1 1 i 1 1 1
80 100 120
expid=176527 (exptime=90.00) t [sec]




arcsec

First 2 seconds (h' 0. 010 H_ 0. 01]87)

First 20 seconds (o, =0.0: a -0
Second 20 seconds ?0 —0 05 0 . =0-012)

Third 20 seconds (o, —5 043 g, —O 008)
Hour Angle Error (o a—O 049 m&&n =-O 003)
Declination Error (o, =0.035 mean .=-0.005)
Guider X (o,,=0. 028)

Guider Y (o, 0. 035)

P T D I e g S N U S et b et
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80 100 120
expid=176529 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 0. 0553_ 0. 112
First 20 seconds " (o,_=0.047 I —0 026)

Second 20 seconds ?0 =0.04. 0 . =0-029)

Third 20 seconds (o, —5 043 g, —O 021)
Hour Angle Error (o a—O 042 m&&n —0 003)
Declination Error (0, =0.047 mean o.=0-025)
Guider X (o,,=0. 030)

Guider Y (o, 0. 035)

80 00
expid=176530 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 0. 0653_ 0. 00@2)

First 20 seconds (o, =0.036 G -0
Second 20 seconds ?0 =0.03 0 &, =0-017)

Third 20 seconds (o, —5 037 g, —O 015)
Hour Angle Error (o a—O 038 m&an -0 000)
Declination Error (o, =0.026 mean .=-0.003)
Guider X (o,,=0. 035)

Guider Y (o, 0. 021)

80 100 120
expid=176531 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 0. 0743_ 0, 09?
First 20 seconds (o, =0.1; 0)

Second 20 seconds ?0 —0 14 0 . =0-025)

Third 20 seconds (o, -0 1430, —O 014)
Hour Angle Error (o —0 129 m&&n —0 012)
Declination Error (o, —0 040 mean o.=0-021)
Guider X (o,,=0. 029)

Guider Y (o, 0. 038)

........................................................

80 100 120
expid=176532 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h'—-o 018 E_ 0, 134%
First 20 seconds (o, =0.046 o 32)

Second 20 seconds ?0 =0.03. 0 . =0-042)

Third 20 seconds (o, -5 0450, —O 026)
Hour Angle Error (o a—O 050 m&&n -0 002)
Declination Error (0, =0.056 mean o.=0-024)
Guider X (o,,=0. 040)

Guider Y (o, 0. 035)

80 00
expid=176534 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h'— 0.002 E_— 0.010
First 20 seconds " (o,_=0.048 T —0.010

Second 20 seconds ?0 =0.03! 0 o, =0-034)

Third 20 seconds (o, -5 056 g, —O 016)
Hour Angle Error (o a—O 050 m&&n —0 000)
Declination Error (0, =0.041 mean o.=0-008)
Guider X (o,,=0. 043)

Guider Y (o, 0. 036)

80 00
expid=176535 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 00233_ 032%)
First 20 seconds (o, =0.023 o, =0.162)

Second 20 seconds ?o =0.03 o .=0.082)
Third 20 seconds (o, —5 029 g, —O 100)
Hour Angle Error (o a—O 030 m&&n -0 005)
Declination Error (g, =0.115 mean . =0.024)
Guider X (o,,=0. 043)

Guider Y (o, =0.039)

80 00
expid=176536 (exptime=90.00)




arcsec

First 2 seconds (h'—-o 035 E_— 0.237,
First 20 seconds (o, =0.035 50 -0.073

Second 20 seconds ?0 =0.04. 0 ,=0.022)

Third 20 seconds (o, —5 0410, —O 023)
Hour Angle Error (o a—O 041 méan -0 003)
Declination Error (o, =0.075 mean o.=0-007)
Guider X (o,,=0. 028)

Guider Y (o, 0. 038)

80 00 120
expid=176537 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 0.040 H_— 0, 1503
First 20 seconds (o, =0.038 39)

Second 20 seconds ?0 =0.| 07 0 . =0-043)

Third 20 seconds (o, -5 1330, —O 034)
Hour Angle Error (o —0 097 m&&n —0 002)
Declination Error (o, —0 072 mean o.=0-020)
Guider X (o,,=0. 035)

Guider Y (o, 0. 043)

80 00
expid=176539 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 0.007 H_— 0, 026%
First 20 seconds " (o,_=0.097 12)

Second 20 seconds ?0 =0. 12 0 &, =0-073)

Third 20 seconds (o, -5 000 g, —O 000)
Hour Angle Error (o a—O 106 m&&n —0 002)
Declination Error (o, =0.092 mean o.=0-055)
Guider X (o,,=0. 039)

Guider Y (o, 0. 037)

80 100 120
expid=176540 (exptime=45.00) t [sec]
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arcsec

First 2 seconds (h' -0.015 E_ =0, 022&
First 20 seconds (o, =0.033 ¢ 06)

Second 20 seconds ?0 =0.03 0 ,=0.010)

Third 20 seconds (o, —5 0310, —O 070)
Hour Angle Error (o a—O 039 méan —0 002)
Declination Error (o, =0.055 mean o.=0-018)
Guider X (o,,=0. 059)

Guider Y (o, 0. 077)

80 00
expid=176543 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 0.065 H_— 0, 064%
First 20 seconds " (o,_=0.047 33)

Second 20 seconds ?0 =0.| 05 0 . =0-038)

Third 20 seconds (o, -5 000 g, —O 000)
Hour Angle Error (o a—O 054 mean =-0.001)
Declination Error (g, =0.050 mean o.=0-016)
Guider X (o,,=0. 064)

Guider Y (o, 0. 091)

80 100 120
expid=176545 (exptime=45.00) t [sec]



arcsec

First 2 seconds (h' 0.015 H_— 0, 110%
First 20 seconds (o, =0.034 36)

Second 20 seconds ?0 =0.| 05 0 . =0-058)

Third 20 seconds (o, -5 1640, —O 070)
Hour Angle Error (o —0 120 mean =-0.002)
Declination Error (o, —0 104 mean =-0.013)
Guider X (o,,=0. 066)

Guider Y (o, 0. 068)

80 00
expid=176546 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 00293_ 0. 074)
First 20 seconds (c 0290 —0 016)

Second 20 seconds ?0 =0.04. 0 o, =0-024)

Third 20 seconds (o, -5 000 g —O 000)
Hour Angle Error (o a—O 035 m&an —0 007)
Declination Error (o, =0.029 mean o.=0-038)
Guider X (o,,=0. 030)

Guider Y (o, 0. 044)
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80 100 120
expid=176547 (exptime=45.00) t [sec]



arcsec

First 2 seconds (h'—-o 003 E_ 0, 1943
First 20 seconds (o, =0.000 o 00)

Second 20 seconds ?0 =0.00 0 .=0.000)
Third 20 seconds (o, -5 000 g —O 000)

Hour Angle Error (o a—O 042 m&&n -0 010)
Declination Error (o, =0.040 mean o.=0-133)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 100 120
expid=176549 (exptime=10.00) t [sec]



arcsec

First 2 seconds (h'—-o 0213_ 0. 12423
First 20 seconds (o, =l 00)

Second 20 seconds ?0 —0 00 0 .=0.000)
Third 20 seconds (o, -5 000 g, —O 000)

Hour Angle Error (o a—O 113 m&%n =-O 003)
Declination Error (o, =0.037 mean o.=0-073)
Guider X (o,,=0. OOO)
Guider Y (o, 0. 000)

80 100 120
expid=176550 (exptime=10.00) t [sec]



arcsec

First 2 seconds (h' 0. 0073_ 0, 12%)
First 20 seconds (o, =0.0: 032)

Second 20 seconds ?0 —0 02 0 ,=0-086)

Third 20 seconds (o, —5 047 g, —O 091)
Hour Angle Error (o a—O 042 mean =-0.001)
Declination Error (0, =0.089 mean o.=0-010)
Guider X (o,,=0. 055)

Guider Y (o, 0. 056)

00 120
expld 176551 (exptime=330.00) t [sec]



arcsec

First 2 seconds (h' 0.010 H_— 0, 0071
First 20 seconds (o, =0.030 11)

Second 20 seconds ?0 =0. 03 0 . =0-023)

Third 20 seconds (o, —5 030 g, —O 029)
Hour Angle Error (o a—O 034 mean =-0.001)
Declination Error (0, =0.059 mean =-0.000)
Guider X (o,,=0. 044)

Guider Y (o, 0. 051)

.............................................................................. ,A,
B v .
| 1 1 1 | 1 1 1
100 120

expld 176552 (exptime=330.00) t [sec]



arcsec

First 2 seconds (h' 0.003 H_— -0 016;
First 20 seconds (o, =0.046 27)

Second 20 seconds ?0 =0.| 03 0 ,=0.041)
Third 20 seconds (o, —5 048 g —O 043)
Hour Angle Error (o a—O 036 m&an —0 000)
Declination Error (0, =0.061 mean .=-0.005)
Guider X (o,,=0. 038)

Guider Y (o, 0. 046)

100 120
expld 176553 (exptime=330.00) t [sec]



arcsec

First 2 seconds (h'—-o 007 E_ =0, 024%
First 20 seconds (o, =0.025 o 32)

Second 20 seconds ?0 =0.02 0 . =0-027)

Third 20 seconds (o, —5 037 g, —O 025)
Hour Angle Error (o a—O 036 m&an =-O 001)
Declination Error (o, =0.087 mean .=-0.008)
Guider X (o,,=0. 041)

Guider Y (o, 0. 046)

00 120
expld 176554 (exptime=330.00) t [sec]



arcsec

First 2 seconds (h' OOOOH_ 00053
First 20 seconds (o, =0.033 o, =0.009)

Second 20 seconds ?0 =0.03! 0 .=0.010)
Third 20 seconds (o, —5 046 0 —O 014)
Hour Angle Error (o a—O 034 m&&n =-O 001)
Declination Error (o, =0.058 mean o.=0-004)
Guider X (o,,=0. 045)

Guider Y (o, 0. 054)

00 120
expld 176555 (exptime=330.00) t [sec]



arcsec

[CCITTTITITT0  First 2 seconds (h' 0. 0313 =0, OOS%
===z~ First20seconds (g, =0.039 a =0.032)
] Second 20seconds ?o =0.035% 0,,.=0.022)

Third 20 seconds (o, 28.032 g, —O 013)
—_ Hour Angle Error (o —0 041 mean =-0.001)

_ Declination Error (g, —0 115 mean =-0.004)
........ A Guider X (o, -0053)
AR Guider Y (o, =0.042)

00 120
expld 176556 (exptime=330.00) t [sec]



arcsec

First 2 seconds (h' 0.009 H_— 0, 054;
First 20 seconds (o, =0.033 17)

Second 20 seconds ?0 =0.| 04 0 =0.054)
Third 20 seconds (o, —5 030 g, —O 061)
Hour Angle Error (o a—O 037 mean =-0.000)
Declination Error (0, =0.139 mean =-0.001)
Guider X (o,,=0. 067)

Guider Y (o, 0. 050)

00 120
expld 176557 (exptime=330.00) t [sec]



arcsec

First 2 seconds (h'—-o 014 E_ =0, 0043
First 20 seconds (o, =0.046 o 20)

Second 20 seconds ?0 =0.04. 0 . =0-015)

Third 20 seconds (o, —5 0450, —O 020)
Hour Angle Error (o a—O 192 m&&n -0 014)
Declination Error (o, =0.159 mean o.=0-012)
Guider X (o,,=0. 051)

Guider Y (o, 0. 073)

00 120
expld 176558 (exptime=330.00) t [sec]



arcsec

First 2 seconds (h' 0. 032 H_— 0, 133&
First 20 seconds (o, =0.0 00)

Second 20 seconds ?0 —0 00 0 .=0.000)
Third 20 seconds (o, -5 000 g —O 000)
Hour Angle Error (o a—O 090 m&&n -0 031)
Declination Error (0, =0.052 mean .=-0.056)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 100 120
expid=176560 (exptime=10.00) t [sec]



arcsec

First 2 seconds (h' 0. 0513_ 0.02 8
First 20 seconds (o, =0.000 % -0 000)

Second 20 seconds ?0 =0.00 0 .=0.000)
Third 20 seconds (o, -5 000 g —O 000)
Hour Angle Error (o a—O 059 m&&n -0 001)
Declination Error (0, =0.029 mean .=-0.001)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 100 120
expid=176561 (exptime=10.00) t [sec]



arcsec

First 2 seconds (h'—-o 043 E_ =0, 0703
First 20 seconds (o, =0.000 o 00)

Second 20 seconds ?0 =0.00 0 .=0.000)
Third 20 seconds (o, -5 000 g, —O 000)

Hour Angle Error (o a—O 051 m&&n =-O 001)
Declination Error (0, =0.047 mean o.=0-013)
Guider X (o,,=0. OOO)
Guider Y (o, 0. 000)

80 100 120
expid=176562 (exptime=10.00) t [sec]



arcsec

First 2 seconds (h' 0. 007 H_— 0, 1693
First 20 seconds (o, =0.0( 00)

Second 20 seconds ?0 —0 00 0 .=0.000)
Third 20 seconds (o, -5 000 g —O 000)
Hour Angle Error (o a—O 035 m&an -0 002)
Declination Error (0, =0.031 mean .—-0.145)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 100 120
expid=176563 (exptime=10.00) t [sec]



arcsec

First 2 seconds (h'—-o 050 E_ 0, 1413
First 20 seconds (o, =0.000 o 00)

Second 20 seconds ?0 =0.00 0 .=0.000)
Third 20 seconds (o, -5 000 g —O 000)

Hour Angle Error (o a—O 050 m&&n =-O 020)
Declination Error (0, =0.039 mean o.=0-098)
Guider X (o,,=0. OOO)
Guider Y (o, 0. 000)

80 100 120
expid=176564 (exptime=10.00) t [sec]



arcsec

First 2 seconds (h'— 0 032 E_— 0.422
First 20 seconds (o, =l 0700 —0. 58’

Second 20 seconds ?0 =0.05 0 .=0.050)
Third 20 seconds (o, —5 036 g, —O 088)
Hour Angle Error (o a—O 051 mean =-0.001)
Declination Error (o, =0.183 mean =-0.012)
Guider X (o,,=0. 071)

Guider Y (o, 0. 053)

00 120
expld 176565 (exptime=330.00) t [sec]



arcsec

First 2 seconds (h' -0.079 E_ 0, 134{
First 20 seconds (o, =0.055 o 91)

Second 20 seconds ?0 =0.06! 0 .=0.051)
Third 20 seconds (o, —5 054 g, —O 040)
Hour Angle Error (o a—O 064 mean =-0.002)
Declination Error (0, =0.191 mean =-0.007)
Guider X (o,,=0. 076)

Guider Y (o, 0. 054)

00 120
expld 176566 (exptime=330.00) t [sec]



arcsec

First 2 seconds (h' 0. oseﬂ_ 0. 025)
First 20 seconds (c 0.068 0.112)

Second 20 seconds ?0 =0.| 07 0 .=0.086)
Third 20 seconds (o, —5 088 g —0 110)
Hour Angle Error (o —0 096 mean =-0.004)
Declination Error (o, —0 233 mean o.=0-018)
Guider X (o,,=0. 094)

Guider Y (o, 0. 061)

00 120
expld 176567 (exptime=330.00) t [sec]



arcsec

First 2 seconds (h' 0.067 H_— 0, 0753
First 20 seconds (o, =0.109 G =0.069)

Second 20 seconds ?0 =0.09: 0 .=0.147)
Third 20 seconds (o, —5 1000, —O 106)
Hour Angle Error (o —0 118 mean =-0.002)

Declination Error (o, —0 203 mean =-0.011)
Guider X (o,,=0. 074)
Guider Y (o, 0. 067)

00 120
expld 176568 (exptime=330.00) t [sec]



arcsec

First 2 seconds (h'— 0.023 E_— 0.354,
First 20 seconds (o, =0.058 T —0.205

Second 20 seconds ? =0.07. 0 .=0.062)
Third 20 seconds (o, —5 079 g, —O 067)

Hour Angle Error (o —0 077 m&an -0 004)
Declination Error (o, —0 137 mean =-0.021)
Guider X (o,,=0. 046)

Guider Y (o, 0. 043)

80 00 120
expid=176569 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h'— 0.033 E_— 0.000!
First 20 seconds " (o,_=0.047 T —0.027

Second 20 seconds ?0 =0.05. 0 . =0-042)

Third 20 seconds (o, —5 000 g, —O 000)
Hour Angle Error (o a—O 051 mean =-0.006)
Declination Error (g, =0.040 mean =-0.026)
Guider X (o,,=0. 045)

Guider Y (o, 0. 034)

80 00 120
expid=176570 (exptime=45.00) t [sec]



arcsec

First 2 seconds (h' 0. 047 H_— 0, 141%
First 20 seconds (o, =0.0! 83)

Second 20 seconds ?0 —0 05 0 .=0.030)
Third 20 seconds (o, —5 040 g —O 020)
Hour Angle Error (o a—O 049 m&&n -0 008)
Declination Error (0, =0.074 mean o.=0-013)
Guider X (o,,=0. 048)

Guider Y (o, 0. 061)

80 00
expid=176571 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' -0,058 E_ =0, 0313
First 20 seconds (o, =0.056 o 30)

Second 20 seconds ?0 =0.05. 0 . =0-062)

Third 20 seconds (o, —5 000 g —O 000)
Hour Angle Error (o a—O 055 mean =-0.006)
Declination Error (o, =0.107 mean o.=0-073)
Guider X (o,,=0. 059)

Guider Y (o, 0. 039)
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80 100 120
expid=176573 (exptime=45.00) t [sec]



arcsec

First 2 seconds (h' 0. 0163_ 0, 02%)
First 20 seconds (o, =0.0: 030)

Second 20 seconds ?0 —0 06 0 .=0.116)

Third 20 seconds (o, —5 000 g —O 000)
Hour Angle Error (o a—O 055 m&&n —0 002)
Declination Error (0, =0.125 mean =-0.052)
Guider X (o,,=0. 085)

Guider Y (o, 0. 045)

80 100 120
expid=176575 (exptime=45.00) t [sec]



arcsec

First 2 seconds (h'— 0.032 E_— 0.245,
First 20 seconds " (o,_=0.054 T, —0.070

Second 20 seconds ?0 =0.07. 0 . =0-043)

Third 20 seconds (o, -5 0450, —O 071)
Hour Angle Error (o a—O 063 mean =-0.001)
Declination Error (0, =0.100 mean o.=0-020)
Guider X (o,,=0. 043)

Guider Y (o, 0. 037)

80 00 120
expid=176576 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h'— 0.008 E_— 0.048,
First 20 seconds " (o,_=0.052 T —0 040’

Second 20 seconds ?0 =0.07. 0 .=0-022)

Third 20 seconds (o, —5 069 g, —O 035)
Hour Angle Error (o a—O 062 m&&n —0 005)
Declination Error (0, =0.047 mean o.=0-014)
Guider X (o,,=0. 035)

Guider Y (o, 0. 042)

80 00
expid=176577 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 0.115 H_— 0, 0193
First 20 seconds (o, =0.073 30)

Second 20 seconds ?0 =0.| 06 0 . =0-069)

Third 20 seconds (o, -5 074 0, —O 056)
Hour Angle Error (o a—O 069 m&&n —0 001)
Declination Error (o, =0.073 mean o.=0-007)
Guider X (o,,=0. 049)

Guider Y (o, 0. 038)

80 00
expid=176578 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' -0,059 E_ =0, 088%
First 20 seconds (o, =0.052 ¢ 25)

Second 20 seconds ?0 =0.09. 0 -, =0-078)

Third 20 seconds (o, —5 000 g, —O 000)
Hour Angle Error (o a—O 074 mean =-0.002)
Declination Error (g, =0.095 mean =-0.017)
Guider X (o,,=0. 055)

Guider Y (o, 0. 044)
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80 100 120
expid=176580 (exptime=45.00) t [sec]



arcsec

First 2 seconds (h'— 0.016 E_— 0.020
First 20 seconds " (o,_=0.053 T, —0.052

Second 20 seconds ?0 =0.05. 0 ,=0-035)

Third 20 seconds (o, —5 063 g —O 032)
Hour Angle Error (o a—O 063 m&&n —0 003)
Declination Error (o, =0.085 mean o.=0-019)
Guider X (o,,=0. 046)

Guider Y (o, 0. 040)

v
F
| 1 1 1 | 1 1 1

80 100 120
expid=176581 (exptime=90.00) t [sec]



arcsec

N 0,0~
First 2 seconds (ﬁ:-o.onﬂﬁ:-o.oug
First 20 seconds (o, =0.083 o ec=0.02 )
Second 20 seconds ?Uh =0.0650, =0.095)
Third 20 seconds (o, =0.0510, =6.121)
Hour Angle Error (o a=0.065 mean a=0.001)
Declination Error (o, =0.161 mean  =0.039)
Guider X (g,,=0.090)

Guider Y (o_,=0.040)

80 100 120
expid=176582 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 00373_ 000@)
First 20 seconds (o, =0.076 o, =0.077)

Second 20 seconds ?0 —0 07 0 . =0-030)

Third 20 seconds (o, -5 1240, —O 059)
Hour Angle Error (o —0 096 m&&n —0 002)
Declination Error (o, —0 090 mean o.=0-008)
Guider X (o,,=0. 050)

Guider Y (o, 0. 043)

80 00 120
expid=176583 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 0. OOlH_ 0. lag
First 20 seconds (o, =0.059 G —0 062)

Second 20 seconds ?0 =0.09 0 . =0-062)

Third 20 seconds (o, -5 0720, —O 161)
Hour Angle Error (o —0 089 mean =-0.000)
Declination Error (o, —0 146 mean o.=0-014)
Guider X (o,,=0. 062)

Guider Y (o, 0. 042)

............................................................

80 100 120
expid=176585 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 0. 1023_ 0. 123:?
First 20 seconds (o, =0.053 IR —0 6)

Second 20 seconds ?0 =0.04! 0 . =0-033)

Third 20 seconds (o, —5 000 g —O 000)
Hour Angle Error (o a—O 049 m&&n —0 016)
Declination Error (0, =0.054 mean o.=0-014)
Guider X (o,,=0. 049)

Guider Y (o, 0. 044)
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80 100 120
expid=176586 (exptime=45.00) t [sec]



arcsec

First 2 seconds (h' 0. 0113_ 0. 3781
First 20 seconds (o, =0.060 T =0.149)

Second 20 seconds ?0 =0.05! 0 . =0-032)

Third 20 seconds (o, —5 067 g, —O 056)
Hour Angle Error (o —0 063 m&an —0 003)
Declination Error (o, —0 117 mean o.=0-030)
Guider X (o,,=0. 049)

Guider Y (o, 0. 048)

80 00
expid=176587 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h'— 0.045 E_— 0.086,
First 20 seconds (o, =0.046 T —0.062

Second 20 seconds ?0 =0.06 0 . =0-042)

Third 20 seconds (o, —5 046 g —O 078)
Hour Angle Error (o a—O 051 mean =-0.000)
Declination Error (o, =0.087 mean o.=0-022)
Guider X (o,,=0. 045)

Guider Y (o, 0. 041)

80 00 120
expid=176589 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h'— 0 019 E_— 0.254;
First 20 seconds (o, =l 0360 —0. 01

Second 20 seconds ?0 =0.04. 0 o, =0-046)

Third 20 seconds (o, —5 038 g —O 072)
Hour Angle Error (o a—O 041 m&&n —0 006)
Declination Error (0, =0.101 mean =-0.023)
Guider X (o,,=0. 047)

Guider Y (o, 0. 061)

80 00 120
expid=176590 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' -0,005 E_ 0, 183%
First 20 seconds (o, =0.036 o 65)

Second 20 seconds ?0 =0.04. 0 . =0-029)

Third 20 seconds (o, —5 000 g —O 000)
Hour Angle Error (o a—O 041 mean =-0.001)
Declination Error (o, =0.086 mean o.=0-015)
Guider X (o,,=0. 038)

Guider Y (o, 0. 044)
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80 100 120
expid=176591 (exptime=45.00) t [sec]



arcsec

First 2 seconds (h' 00363_ 0039)
First 20 seconds (c =0.04 Oa -0 015)

Second 20 seconds ?0 =0.04! 0 -, =0-078)

Third 20 seconds (o, —5 052 g, —O 065)
Hour Angle Error (o a—O 045 m&&n -0 007)
Declination Error (0, =0.077 mean o.=0-025)
Guider X (o,,=0. 054)

Guider Y (o, 0. 048)

80 00
expid=176593 (exptime=90.00)



arcsec

First 2 seconds (h' 0. 012 H_— O 02, 3
First 20 seconds (o, =0.0: 34)

Second 20 seconds ?0 —0 03 0 —0049)

Third 20 seconds (o, —5 000 g —O 000)
Hour Angle Error (cha—O 031 m&&n =-O 004)
Declination Error (0, =0.071 mean o.=0-045)
Guider X (o,,=0. 035)

Guider Y (o, 0. 039)

80 00
expid=176594 (exptime=45.00) t [sec]



arcsec

First 2 seconds (h' 0. 103 H_— O 16 3
First 20 seconds (o, =0.0! 34)

Second 20 seconds ?0 —0 03 0 —0012)

Third 20 seconds (o, —5 055 g, —O 017)
Hour Angle Error (cha—O 052 m&&n -0 008)
Declination Error (o, =0.057 mean .=-0.019)
Guider X (o,,=0. 038)

Guider Y (o, 0. 035)

80 00
expid=176595 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h'—-o 024 E_— 0.021,
First 20 seconds " (o,_=0.000 T -0.000

Second 20 seconds ?0 =0.00 0 .=0.000)
Third 20 seconds (o, -5 000 g —O 000)

Hour Angle Error (o a—O 017 m&&n =-O 017)
Declination Error (o, =0.004 mean —0.022)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 00 120
expid=176599 (exptime=3.00) t[sec]



arcsec

First 2 seconds (h'—-o 044 E_ =0, 0233
First 20 seconds (o, =0.000 o 00)

Second 20 seconds ?0 =0.00 0 .=0.000)
Third 20 seconds (o, -5 000 g, —O 000)

Hour Angle Error (o a—O 045 m&&n =-O 014)
Declination Error (o, =0.010 mean o.=0-016)
Guider X (o,,=0. OOO)
Guider Y (o, 0. 000)

80 100 120
expid=176600 (exptime=5.00) t[sec]



arcsec

First 2 seconds (h'—-o 034 E_— 0.016,
First 20 seconds (o, =0.000 T -0.000

Second 20 seconds ?0 =0.00 0 .=0.000)
Third 20 seconds (o, -5 000 g —O 000)

Hour Angle Error (o a—O 037 m&&n =-O 034)
Declination Error (o, =0.007 mean .—-0.016)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 00 120
expid=176604 (exptime=2.00) t[sec]



arcsec

First 2 seconds (h'—-o 005 E_ =0, 0113
First 20 seconds (o, =l 19)

Second 20 seconds ?0 —0 00 0 ,=0-000)

Third 20 seconds (o, —5 000 g —O 000)
Hour Angle Error (o a—O 030 m&&n -0 002)
Declination Error (o, =0.019 mean .=-0.004)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 100 120
expid=176605 (exptime=20.00) t [sec]



arcsec

First 2 seconds (h'—-o 039 E_ =0, 0133
First 20 seconds (o, =l 10)

Second 20 seconds ?0 —0 00 0 ,=0-000)

Third 20 seconds (o, -5 000 g —O 000)
Hour Angle Error (o a—O 030 m&&n -0 001)
Declination Error (o, =0.010 mean o.=0-001)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 100 120
expid=176607 (exptime=20.00) t [sec]



arcsec

First 2 seconds (h' OOOOH_ 000(@
First 20 seconds (o, =0.000 o, =0.000)

Second 20 seconds ?0 =0.00 0 ,=0-000)

Third 20 seconds (o, -5 000 g —O 000)
Hour Angle Error (o a—O 019 m&&n =-O 026)
Declination Error (o, =0.007 mean o.=0-030)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 00
expid=176608 (exptime=1.00) t[sec]



arcsec

First 2 seconds (h' OOlOH_ 00038
First 20 seconds (o, =0.000 o, =0.000)

Second 20 seconds ?0 =0.00 0 ,=0-000)

Third 20 seconds (o, -5 000 g, —O 000)
Hour Angle Error (o a—O 051 m&&n -O 011)
Declination Error (o, =0.020 mean o.=0-003)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 00
expid=176609 (exptime=2.00) t[sec]



arcsec

First 2 seconds (h' OOOGH_ 00828
First 20 seconds (o, =0.000 o, =0.000)

Second 20 seconds ?0 =0.00 0 .=0.000)
Third 20 seconds (o, -5 000 g —O 000)
Hour Angle Error (o a—O 018 m&&n -0 006)
Declination Error (o, =0.017 mean o.=0-075)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 100 120
expid=176611 (exptime=4.00) t [sec]



arcsec

First 2 seconds (h'—-o 004 E_ =0, 0233
First 20 seconds (o, =0.000 o 00)

Second 20 seconds ?0 =0.00 0 .=0.000)
Third 20 seconds (o, -5 000 g —O 000)

Hour Angle Error (o a—O 028 m&an =-O 007)
Declination Error (0, =0.021 mean o.=0-008)
Guider X (o,,=0. OOO)
Guider Y (o, 0. 000)

80 100 120
expid=176612 (exptime=10.00) t [sec]



arcsec

First 2 seconds (h' 00293_ 0004)
First 20 seconds (c =0. 0360 -0 014)

Second 20 seconds ?0 =0.00 0 ,=0-000)

Third 20 seconds (o, —5 000 g —O 000)
Hour Angle Error (o a—O 036 m&an =-O 002)
Declination Error (o, =0.014 mean .=-0.002)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 100
expid=176613 (exptime=20.00)



arcsec

First 2 seconds (h'— 0, 0113_— -0 0518
First 20 seconds (o, =0.000 @ = 00)

Second 20 seconds ?0 =0.00 0 .=0.000)
Third 20 seconds (o, -5 000 g —O 000)

Hour Angle Error (o a—O 046 m&an -0 010)
Declination Error (o, =0.013 mean .=-0.046)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 00
expid=176615 (exptime=3.00) t[sec]



arcsec

First 2 seconds (h' 0.060 H_— 0, 013%
First 20 seconds (o, =0.038 12)

Second 20 seconds ?0 =0.| 00 0 ,=0-000)

Third 20 seconds (o, -5 000 g —O 000)
Hour Angle Error (o —0 038 m&an —0 005)
Declination Error (o, —0 011 mean o.=0-004)
Guider X (o,,=0. 034)

Guider Y (o, 0. 063)
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80 100 120
expid=176616 (exptime=25.00) t [sec]



arcsec

First 2 seconds (h' 0. 0213_ 0.06: 8
First 20 seconds (o, =0.000 % -0 000)

Second 20 seconds ?0 =0.00 0 ,=0-000)

Third 20 seconds (o, -5 000 g —O 000)
Hour Angle Error (o a—O 017 m&&n -0 016)
Declination Error (o, =0.006 mean o.=0-061)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 00
expid=176618 (exptime=3.00) t[sec]



arcsec

First 2 seconds (h' 00523_ 0. 1272
First 20 seconds (o, =0.036 G -0 9)

Second 20 seconds ?0 =0.00 0 .=0.000)
Third 20 seconds (o, —5 000 g —O 000)
Hour Angle Error (o a—O 036 m&an -0 012)
Declination Error (o, =0.037 mean o.=0-078)
Guider X (o,,=0. 020)

Guider Y (o, 0. 018)

80 100 120
expid=176619 (exptime=30.00) t [sec]



arcsec

[CCITTTITITT0  First 2 seconds (h'— 0.050 E =0, 015%
SZ ==z ~271 First20seconds (0, =0.0400 22)
] Second 20seconds ?o =0. 04% 0,,.=0.031)

Third 20 seconds (o, 28.029 g, —O 028)
—_ Hour Angle Error (o 20.040 mean =-0.000)

_ Declination Error (g, i .=0.080 mean =-0.003)
........ A Guider X (o, -0038)
- - Guider Y (o, 0. 036)

00 120
expld 176620 (exptime=400.00) t [sec]



arcsec

First 2 seconds (h'—-o 0213_— -0, 148
First 20 seconds " (o,_=0.032 @ = 40)

Second 20 seconds ?0 =0.04. 0 ,=0.026)
Third 20 seconds (o, —5 032 g, —O 027)
Hour Angle Error (o a—O 038 m&an =-O 002)
Declination Error (0, =0.051 mean .=-0.004)
Guider X (o,,=0. 047)

Guider Y (o, 0. 043)

00 120
expld 176621 (exptime=400.00) t [sec]



arcsec

First 2 seconds (h' -0,037 E_ =0, ozeg
First 20 seconds (o, =0.032 ¢ 08)

Second 20 seconds ?0 =0.04 0 . =0-026)

Third 20 seconds (o, —5 038 g —O 024)
Hour Angle Error (o a—O 042 mean =-0.001)
Declination Error (o, =0.060 mean =-0.001)
Guider X (o,,=0. 039)

Guider Y (o, 0. 035)

00 120
expld 176622 (exptime=1300.00) t [sec]



arcsec

First 2 seconds (h' 0. 039 H_— -0 042;
First 20 seconds (o, =0.0! 27)

Second 20 seconds ?0 —0 07 0 .=0.040)
Third 20 seconds (o, —5 0720, —O 087)
Hour Angle Error (cha—O 051 m&&n a=-0 001)
Declination Error (0, =0.119 mean  =0.002)
Guider X (o,,=0. 046)

Guider Y (o, 0. 042)

00 120
expld 176623 (exptime=400.00) t [sec]



arcsec

First 2 seconds (h' -0,004 E_ =0, 052%
First 20 seconds (o, =0.054 o 17)

Second 20 seconds ?0 =0.04! 0 ,=0.014)

Third 20 seconds (o, -5 101a, —O 079)
Hour Angle Error (o —0 061 mean =-0.001)
Declination Error (o, —0 078 mean o.=0-001)
Guider X (o,,= nan)

Guider Y (o = nan)

00 120
expld 176624 (exptime=735.48) t [sec]



arcsec

First 2 seconds (h'— 0.040 E_— 0.019
First 20 seconds (o, =0.033 T —0.010

Second 20 seconds ?0 =0.00 0 ,=0-000)

Third 20 seconds (o, -5 000 g —O 000)
Hour Angle Error (o a—O 034 m&&n —0 001)
Declination Error (0, =0.010 mean =-0.009)
Guider X (o,,= nan)

Guider Y (o, = nan)
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............. D N T N A N N N e
| 1 1 1 | 1 1 1

80 100 120
expid=176625 (exptime=30.00) t [sec]



arcsec

First 2 seconds (h' 00333_ 00078
First 20 seconds (o, =0.062 o, =0.008)

Second 20 seconds ?0 =0.00 0 ,=0-000)

Third 20 seconds (o, -5 000 g —O 000)
Hour Angle Error (o a—O 055 mean =-0.005)
Declination Error (g, =0.008 mean o.=0-017)
Guider X (o,,= nan)

Guider Y (o, = nan)

P T R e O N A M eeeesneneeeeaaaaaaaaaan B eeiecenaenanaanaanaaaan

.............................................................................. B aeeeeaeeeaeaecaeaasasafeeanaanaananaaaaaaaaaan

............. D N T N A N N N e
| 1 1 1 | 1 1 1

80 100 120
expid=176626 (exptime=30.00) t [sec]



arcsec

First 2 seconds (h' 0. 009 H_— 0, 0243
First 20 seconds (o, =0.0: 09)

Second 20 seconds ?0 —0 00 0 .=0.000)
Third 20 seconds (o, -5 000 g —O 000)
Hour Angle Error (o a—O 042 m&&n =-O 001)
Declination Error (0, =0.017 mean .=-0.009)
Guider X (o,,=0. 024)

Guider Y (o, 0. 034)

80 100 120
expid=176629 (exptime=30.00) t [sec]



arcsec

First 2 seconds (h'—-o 003 E_— 0.020!
First 20 seconds (o, =0.031 10, -0 008;

Second 20 seconds ?0 =0.000 0 ,=0-000)

Third 20 seconds (o, -5 000 g —O 000)
Hour Angle Error (o a—O 035 m&an -0 003)
Declination Error (o, =0.014 mean .—-0.016)
Guider X (o,,=0. 028)

Guider Y (o, 0. 023)

80 100 120
expid=176631 (exptime=30.00) t [sec]



arcsec

[CCITTTITITT0  First 2 seconds (h' 0. OlOH 0. 099
===z~ First20seconds (g, =0.030 a .=0.021)
C X X Second 20 seconds ?o =0.03 o .=0.047)

Third 20 seconds (o, —5 036 g, —O 040)
Hour Angle Error (o a—O 039 m&&n =-O 001)
_ Declination Error (g, =0.137 mean o ="0-000)
........ A Guider X (o, -0045)
V-

........ Guider Y (o, o, 039)

00 120
expld 176632 (exptime=1300.00) t [sec]



arcsec

Uha: N Udec: B
First 2 seconds (Fa=0.037 Hﬁ:-o,oeg
First 20 seconds (o, =0.037 ¢ ec=0.03 )
Second 20 seconds ?Uh =0.031c, =0.032)
Third 20 seconds (o, =0.027 6, =0.067)
Hour Angle Error (o a=0.042 mean a=-04001)
Declination Error (0, =0.113 mean  =0.006)
Guider X (0,,=0.053)
Guider Y (0,=0.041)

A A
Y, ¥ L‘.,‘ 2
\ Y .
J L : I 1 1 | i 1 1 | 1 1 1 | 1 1 1

80 100 120
expid=176633 (exptime=400.00) t [sec]



arcsec

First 2 seconds (h'— 0. 0413_ 0, 01423
First 20 seconds (o, =0.0: 18)

Second 20 seconds ?0 —0 04 0 . =0-014)

Third 20 seconds (o, —5 0350, —O 068)
Hour Angle Error (o —0 042 mean =-0.000)
Declination Error (o, —0 116 mean o.=0-000)
Guider X (o,,=0. 042)

Guider Y (o, 0. 046)

00 120
expld 176634 (exptime=1300.00) t [sec]



arcsec

First 2 seconds (h' 0.033 H_— -0 032;
First 20 seconds " (o,_=0.042 27)

Second 20 seconds ?0 =0.| 04 0 =0.011)
Third 20 seconds (o, —5 038 g —O 031)
Hour Angle Error (o —0 043 m&&n —0 000)
Declination Error (o, —0 115 mean =-0.001)
Guider X (o,,=0. 057)

Guider Y (o, 0. 056)

00 120
expld 176635 (exptime=400.00) t [sec]



arcsec

First 2 seconds (h'— 0. 0543_ 0, 122%
First 20 seconds (o, =0.039 o

Second 20 seconds ?o =0.03! o . =0-062)

Third 20 seconds (o, —5 042 g, —O 045)
Hour Angle Error (o a—O 040 mean =-0.001)
Declination Error (o, =0.125 mean . =0.001)
Guider X (o,,=0. 061)

Guider Y (o, —0 058)

00 120
expld 176636 (exptime=1300.00) t [sec]



arcsec

First 2 seconds (h'— 0.010 E_— 0.106,
First 20 seconds " (o,_=0.050 Ty, —0.018

Second 20 seconds ?0 =0.03. 0 .=0.036)
Third 20 seconds (o, —5 044 g, —O 121)
Hour Angle Error (o a—O 042 m&&n —0 001)
Declination Error (0, =0.149 mean =-0.020)
Guider X (o,,=0. 062)

Guider Y (o, 0. 047)

00 120
expld 176637 (exptime=162.26) t [sec]



arcsec

First 2 seconds (h' 0. 0413_ 0. 1226)
First 20 seconds (o, =0.0: 064)

Second 20 seconds ?0 —0 04 0 .=0.075)
Third 20 seconds (o, —5 0510, —O 071)
Hour Angle Error (o a—O 049 méan —0 000)
Declination Error (0, =0.177 mean o.=0-001)
Guider X (o,,=0. 076)

Guider Y (o, 0. 060)

00 120
expld 176638 (exptime=400.00) t [sec]



arcsec

First 2 seconds (h' 0. 035 H_— 0, 257&
First 20 seconds (o, =0.0 00)

Second 20 seconds ?0 —0 00 0 ,=0-000)

Third 20 seconds (o, -5 000 g —O 000)
Hour Angle Error (o a—O 027 m&&n -0 007)
Declination Error (o, =0.019 mean .—0.268)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 00
expid=176639 (exptime=10.00) t [sec]



arcsec

First 2 seconds (h' 0. 010 H_— 0, osoa
First 20 seconds (o, =0.0 00)

Second 20 seconds ?0 —0 00 0 .=0.000)
Third 20 seconds (o, -5 000 g, —O 000)
Hour Angle Error (o a—O 026 m&an -0 020)
Declination Error (o, =0.008 mean =0.077)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 100 120
expid=176640 (exptime=3.00) t[sec]



arcsec

First 2 seconds (h'—-o 032 E_— 0.066,
First 20 seconds " (o,_=0.000 T -0.000

Second 20 seconds ?0 =0.00 0 .=0.000)
Third 20 seconds (o, -5 000 g, —O 000)

Hour Angle Error (o a—O 024 m&&n =-O 019)
Declination Error (0, =0.012 mean .=-0.063)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 100 120
expid=176642 (exptime=3.00) t[sec]



arcsec

First 2 seconds (h' 00563_ 00398
First 20 seconds (o, =0.000 o, =0.000)

Second 20 seconds ?0 =0.00 0 .=0.000)
Third 20 seconds (o, -5 000 g —O 000)
Hour Angle Error (o a—O 082 m&&n -0 014)
Declination Error (o, =0.015 mean o.=0-047)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 100 120
expid=176644 (exptime=3.00) t[sec]
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